## RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Approval of the Intern Program Budget for the Schuk Toak Farm)

**RESOLUTION NO. 2000-155** 

•	Williams,	the Southern Arizona water Rights Settlement Act of 1982 awards to the Tohono
2		O'odham Nation 10,800 acre feet of CAP Water and 5,200 acre feet of additional water
3		suitable for agriculture for delivery to the Schuk Toak District to settle damages by
4		that portion of the district; and
5	WHEREAS,	the Schuk Toak District has always been interested in the opportunities that the
6		Schuk Toak Farm will bring; and
7	WHEREAS,	one of the opportunities afforded to the Schuk Toak District is employment and in
8		order to fulfil this opportunity training for Schuk Toak District members is
9		necessary; and
10	WHEREAS,	the Schuk Toak Farm will be ready for operation in the very near future and
11		employees will be needed to fill positions at the Schuk Toak Farm; and
12	WHEREAS,	the Schuk Toak District Council did enact Resolution No. ST-02-02-00-07 (Approval
13		and Support of Tohono O'odham Farming Authority Management Board to Obtain
14		Funding from SAWRSA Trust Funds for Schuk Toak Farm Programs); and
15	WHEREAS,	the Schuk Toak District Council did also enact Resolution No.: ST-03-09-00-08
16		(Approval and Support of the Intern Program Budget for the Schuk Toak Farm); and
17	WHEREAS,	the Tohono O'odham Legislative Council did on February 10, 1999, by Resolution No.
18		99-060, approve and adopt the Second Restated Plan of Operation for the Tohono
19		O'odham Farming Authority; and
20	WHEREAS,	according to the Tohono O'odham Farming Authority's Second Restated Plan of
21		Operation Section 3.1.3 to provide business training and employment opportunities
22		for members of the Tohono O'odham Nation consistent with the purposes expressed
23		in this Plan of Operation; and
24	WHEREAS,	the Tohono O'odham Farming Authority Board and Management did present to the
25		Tohono O'odham Legislative Council the Budget for the Intern Program in the
26		amount of \$453,690.72.
27	NOW, THER	EFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council that it does
28		hereby approve the Intern Program Budget for the Schuk Toak Farm attached

	RESOLUTION NO. <u>2000-155</u> (Approval of the Intern Program Budget for the Schuk Toak Farm) Page 2 of 3
1	hereto and funding for the Intern Program for the Schuk Toak Farm come out of the
2	SAWRSA Trust fund in the amount of \$453,690.72.
3	BE IT FURTHER RESOLVED that the Tohono O'odham Legislative Council hereby authorizes the
4	Tohono O'odham Farming Authority, the Executive Office and other departments to
5	execute necessary documents and process funds to be deposited into the Tohono
6	O'odham Farming Authority's account at Bank of America for the Intern Program
7	budget for the Schuk Toak Farms.
8 9	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the <u>05TH.</u> Day of <u>APRIL, 2000</u> at a meeting at which a quorum was present with a vote of <u>1,877.4</u> FOR; <u>-0-</u>
10	AGAINST: 128.1 NOT VOTING; and 160.0 [07] ABSENT, pursuant to the powers vested in the Council
11	by Section 1(d)(2) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the
12	Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant
13	Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June
14	18, 1934 (48 Stat. 984).
15	MOWONO OLODWAN I POTOI AMILIE OOTINGII
16	TOHONO O'ODHAM LEGISLATIVE COUNCIL
17	
18 19	De K
20	Dennis Ramon, Legislative Chairman
21	
22	5th day of april , 2000_
23	·
24	ATTEST:
25	
26 27	Sense M Sungu
28	Julianna Saraficio, Acting Legislative Secretary
29	05th day of april , 20 00.
30 31	day of
32	Said Resolution was submitted for approval to the office of the Chairman of the Tohono
33	O'Odham Nation on the 5th day of Opril, 20 00 at 4:37 o'clock,
34	.M., pursuant to the provisions of Section 5 of Article VII of the Constitution and will become
35	effective upon his approval or upon his failure to either approve or disapprove it within 48 hours
<b>36</b>	of submittal.
3 <del>7</del>	OI SUDIMIEMA.
	TOHONO O'ODHAM LEGISLATIVE COUNCIL
38	TOHORO O ODBIRM ELGISLATIVE COCKCEE
39	(k)
40	

Dennis Ramon, Legislative Chairman

RESOLUTION NO. <u>2000-155</u> (Approval of the Intern Progra Page 3 of 3	am Budget for the Schuk Toak Farm)
[X] APPROVED	on the 7 day of fried, 20 02 at 10:09 o'clock, 1.M.
[ ] DISAPPROVED	at <u>/0.'09</u> o'clock,M.
	20 NO 30
	(Moral Mana)
	EDWARD D. MANUEL, Chairman TOHONO O'ODHAM NATION
Returned to the Legislative S	ecretary on the <u>07</u> day of
Hinil	, 20 00 , at 2:55 o'clock, .M.
- 1909	_, 20, at O'Clock,, M.
Sul an	
Julianna Saraficio, Acting Le	
	<b>,</b>

ACTION: APPROVAL OF THE INTERN BUDGET FOR THE SCHUK TOAK FARM

MOVED: COUNCILWOMAN FRANCES ANTONE

SECOND: COUNCILWOMAN MARY FLORES

DATE: APRIL 05, 2000

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	MARY ANN ANTONE     (Darlene Andrew)	85.9	X			
	2. RITA MARTINEZ (Nicholas Jose)	85.9	X	,		X
SELLS 372.7	1. DENNIS E. JOSE	186.35	X			
3/2./	2. EVELYN JUAN ( )	186.35	x			
SCHUK TOAK	1. MARY FLORES	66.7	х			
133.4	2. AMBROSE ENCINAS	66.7	x			
SAN XAVIER	1. TONY BURRELL	82.95	X			
165.9	2. DENNIS RAMON	82.95	X			x
BABOQUIVARI	FRANCES MIGUEL     ( )	143.25	х			x
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	x			
GU ACHI	CAMILLUS LOPEZ     (Louis Johnson)	104.8	x			
209.6	2. ALEX J. RAMON ( )	104.8	X			
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	x			
156.8	2. JOHNSON JOSE	78.4	x			x
SAN LUCY	1. ALBERT MANUEL, JR.	64.05			х	
128.1	2. GLORIA RAMIREZ ( )	64.05			X	
GU VO	1. FERN SALCIDO	80.0				X
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0				X
HICKIWAN	1. ALEX JOSE (Shirley Santos)	79.05	X			
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	X			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	х			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			x
T	2,165.5	1,877.4	-0-	128.1	160.0 [07]	

<sup>\*\*</sup>PASSED VOTES